Monthly averaged wind velocity by MF radar at Tromsoe for December 2002

North

mean sigma = 22.496

20

-50F
-100E
0 4 8 12 16 20 0
mean sigma = 21.588
100F E|
w N\N ;
: VI f ;
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 22.955
100F E
50 =
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 23.633
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 22.385
100F ]
50 =
0F; T
-50F E
-100E E|
0 4 8 12 16 20 0
mean sigma = 22.477
100F ]
50 -3
0 Ep i v A 24
-50F 4
-100t 3
0 4 8 12 16 20 0
mean sigma = 21.966
100F E
50 3
-100E E
0 4 8 12 16 20 0
mean sigma = 21.752
100F E|
50 =
O s\ N YN - E
-50 E
-100E E
0 4

o

East

mean sigma = 24.154

WMWW

4 8 12

mean sigma = 24.216

100F E|
s0- i 3
A A e |
)
-100E E
0 4 8 12 16 20 0
mean sigma = 22.128
100F E|
50 =
of - i
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 22.615
100F ]
50 =
op :
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 24.049
100F ]
50 =
o :
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 23.623
100F E
50 -3
O sr g g L - - T I e I iy :
-50F 4
-100E 3
0 4 8 12 16 20 0
mean sigma = 22.690
100F E|
50 3
-100E E
0 4 8 12 16 20 0
mean sigma = 21.309
100F E
50 =
-50 E
-100E E
0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km



a o
o O

o

o &
ISH=)

a o
o O

o

o &
3 o

a o
o O

o

o &
ISIR=)

a o
o O

o

o &
ISIR=)

a o
o O

o

o &
ISHR=)

a o
o O

o

o &
ISH=)

Monthly averaged wind velocity by MF radar at Tromsoe for December 2002
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